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Section : Mental Ability

Q.1 How would the pattern appear when the transparent sheet is folded at the dotted line:

Ans

Question ID : 16794316349
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Q2 gpot the embedded figure given below from the options.

Question ID : 16794316346
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@3 Find the odd pair of numerals: Question ID : 16794316357

Ans X 1. 67-55
< 2 82-70
V'3 43-33
< 4 64-52

Q.4 : !
Animals have: Question ID : 16794316350

Ans X 1. Feathers
v 2 Legs
< 3. Mobile
< 4 Tails

Q.5 You are dancing in the pub. When your friend gets stuck on a live electric wire you-
Question ID : 16794316347

Choose the correct statement:

Ans

/< 1. Raise an alarm to call some people for help
7< 2. Hold the wire and pull away

« 3 Pull off the wire with wooden stick
X 4
Hold him/her with your hands and try to set back
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Q.6 Nandini is sister of Namya. How is Namya’s brother’s mother’s only son related to Nandini?
Question ID : 16794316352

Ans 1. Uncle
& 2. Cousin
+ 3 Brother

/< 4 Father

7 : !
Q7 Find the odd pair of words: Question ID : 16794316356

Ans 1. Cock : Hen
/< 2. Lord : Lady

/< 3. Dog : Bitch
v 4 Bullock : Vixen

Q.8 If A stands for —, B stands for —, C stands for X, find the value of (5C6) A (2C4) B3?
Question ID : 16794316353

Ans X140
v 2 30
<3 32
< 4 38

Q.9

Question ID : 16794316351




Study the following figure carefully and answer the given question:

= ’493 American
v Doctors

Which region denotes Americans who are neither singers nor Doctors?
Ans x 1. 15
v29
X313
X4 3

Q.10 ¢ oz i3 3. LR 3 s
Mare’ is related to ‘Horse’ in the same way as “Vixen’ is related to: Question ID : 16794316340

Ans X 1. Blue
v 2 Fox
& 3 Lion
< 4. Dog

Q_‘] q Select the option that is related to the third term in the same way as the second term is related to the first term.

Question ID : 16794316341
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Q.12 = = = o warer T g v 39 & o T T g fRTl 3R 30§ 60 T g
T, F 38 o Faror W8 gw Question ID : 16794316354

Ans ?(1- 20
v 215
X318
X412

Q.13
Question ID : 16794316348




The following are the conditions for selecting list of a suitable candidates to be called for interview after the written test
for the recruitment is conducted/ organized for management-level persons of a multi-national company. For providing
accounting services and sales the candidate must

(a) be holding a graduation in basic science with 65% or above or B.E degree with 55% and above marks

(b) have passed the written test with 70% or above marks

(c) the age must be in the group 25 to 30 yrs as on 1/4/18

(d) have experience in an accounting firms for three yrs and diploma in accounting with 60% or above marks

(e) be presently drawing CTC of 6Lakhs per annum and above

In case the applicant who satisfies all other terms above except

1) at (a) above, then be referred as Junior Accountant

2) at (d) & () above then be referred as

Trainee-Accountant

Satisfying all the above with experience of 5 yrs then be referred as senior-Accountant

Satisfying all the above criteria (a-€) with CA/ ICWA/ MBA (Finance) then be refereed as manager (Accounts)

Read all the above information and answer the following question:

Radha Mohan has done her graduation in physics with 58% of marks. She has passed the written examination with 76%
of marks. She is 27 yrs as on June 2018. She has the experience in the accounting company for four years with salary of
7 Lakhs per annum. She also has passed diploma in accounting with 61% of marks. She may be referred for the position

of :
Ans 1. Manager-Accountant
/< 2. Trainee-Accountant
< 3. Senior-Accountant
+ 4 Junior-Accountant
14 . L
Q14 Choose the odd figure in the series: Question D : 16794316342
E J T U
5 10 20 25
A B ' D
Ans x 1. B
v 2D
K3 A
X4C
Q.15 What will be the ]I]_lSS]l'lg term in the Sm Question ID : 16794316359
FHIMPT,?
Ans  of 1 X
X2 G
X3 L
XaT
0.16 The ratio between the present ages of M and N is 5 : 8. If N is & years older than M, what will be the ratio of the ages of
Mand N after 6 years? Question ID : 16794316355
Ans X 1. 8:15
X 216:24
X 31748
vig:11
Q17 YWhat will be the next figure in the series: Question ID : 16794316344

Ans
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Q_‘] 8 The following pie chart shows information about the books published by a publication company “XYZ". The total
number of books published by the company are 12.462 in 2016-17 including color black &white publications. Question ID : 16794316345

competitive exam

callege level
Mg 12

How many books of competitive exams are published by XYZ in 2016-17 (approximately)?

Ans  of 11246
< 2 3115
X3 2243
< 4 1869

Pre schooliNUR, LKG & UKG)

Q19 . B . .
what will be the missing term in the ser, Question 1D : 16794316358

34, 39, 37,42, 2, 45
Ans X 1. 49

v 2 40

<350

X 4 47

Q.20

What is the next figure in the series: Question ID : 16794316343
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Section : General Awareness

Q1 Where is the capital city of Belarus located?

Ans X 1. Bucharest
v 2. Minsk
3. Lisbon
< 4 Baku

Question ID : 16794316363

According to updated World Bank figures on GDP of countries for 2017, India has become world’s
economy.

#< 1. Tenth
/< 2. Eighth
< 3. Seventh
v 4 sixth

biggest

Q.2

Ans

Question ID : 16794316368

Q3 YWhat is the study of new born called?

/< 1. Kalology
< 2 Cytology
+ 3. Neonatology

Ans

/< 4 Gynecology

adda

Question ID : 16794316375

Q.4 =Filoor d9 # Fwr T W, 3 F Yo FFA AE FT 2018 F 273 FEHOT # 3-2 e HH
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Ans

Question ID : 16794316374

®* on 10t May Sepoy Mutiny broke out at:

< 1. Barrackpore
/< 2. Kanpur

#< 3. Jhansi

v 4 Merrut

Ans

Question ID : 16794316362




Q.6

Ans

The 5th President of India was . l Question ID : 16794316367

7< 1. Shri Neelam Sanjeeva Reddy
< 2 Giani Zail Singh

2 Dr. Fakhruddin Ali Ahmed
X 4. Shri V.V, Giri

Q7 'Tawa Project' is an irrigation project of which state? Question ID : 16794316364
Ans X 1. Odisha

/< 2. Telangana

« 3. Madhya Pradesh

/< 4. Rajasthan
Q.8 Who among the following is a famous 'Dhrupad' singer of India?

Ans

Question ID : 16794316372

/< 1. Ustad Ghulam Mustafa Khan
< 2. Ustad Mazhar Ali Khan
+ 3. Ustad Rahim Fahimuddin Dagar

X 4. Ustad Bade Ghulam Ali Khan

Q.9

— — — - - —

Which of the following article provides that the State shall endeavour for the promotion of international peace and

SECny \ Question ID : 16794316365
E L
Ans  of 1. Article 51
< 2 Article 47
X< 3. Article 50
< 4 Article 45
Q.10 The of Kargil Vijay Diwas was celebrated across India on 26 July 2018. .
Question ID : 16794316378
Ans

/< 1. 16th anniversary
/< 2. 18th anniversary
/< 3. 17th anniversary
« 4 19th anniversary

Q.11 Ministry of Barth Sciences has unveiled SAFAR (System of Air Quality and Weather Forecasting), the first of ts kind
and most advanced systenn i ndinin___. Question ID : 16794316377

Ans 1. Ahmedabad

X 2 Mumbai

v 3 Delhi

< 4 Pune
Q.12 Which of the following rulers established the Gupta dynasty? Question ID 16794316360
Ans

/< 1. Ramgupta
< 2. Samudragupta
/< 3. Chandragupta I




+ 4 Sri Gupta

Q.13 '@mﬁ%ﬂﬁiﬁﬁﬁﬁaﬂﬁgﬁﬁaﬁésﬂrmmﬂﬁ%mmﬁmﬁmmm
At X 43F sl weitue sfufeem, 1974
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K 2 443 gEuTae @rivs FofEma, 1974

v
4237 gaenfaes werus sfofaTs, 1974

Question ID : 16794316366

Q14 1 eela Samson is a classical dancer of which dance form?
Ans 1. Kathakali

#< 2. Manipuri

& 3 Odissi

+ 4 Bharatnatyam

Question ID : 16794316371

Q 15 Which country ranked 1st among 100 countries in recently released Global Real Estate Transparency Index (GRETI)?

Question ID : 16794316369

Ans o 1. UK
/< 2. France
X3 US
& 4 Australia
—_— _—
Q“I 6 Indian Railways inaugurated Regional Rail Training Institute (RRTL) at in a bid to strengthen expertise

capabilities of the employees of North-Eastern Railway.

Ans X 1. Sealdah
/< 2. Hajipur
/< 3. Kanpur
« 4 Ghazipur

Question ID : 16794316379

Q.17 How many Sangams (assembly of Tamil poets) were held in south India?

Ans X 1. Four
< 2 Two
« 3 Three
< 4 Five

Question ID : 16794316361

Q.18 Which player was given the Golden Boot award in the 2018 FIFA World Cup?

Ans 1. Kylian Mbappe
#< 2. Antoine Griezmann
« 3. Harry Kane
< 4 Romelu Lukaku

Question ID : 16794316373

Q19 Where is the headquarter of African Union (AU) situated?

Ans  of 1. Addis Ababa

Question ID : 16794316376




X 2. Cairo
#< 3. Nairobi
/< 4. Harare

0-20 Y . -r. . B
Kavadi is a folk dance associated with which state of India? Question ID : 16794316370

Ans - X 1. Goa
' 2. Tamil Nadu
#< 3. Karnataka
#< 4 Kerala

Section : Arithmetic Ability

Q.1

1,
The value of 1 + ——— is equal to: Question ID : 16794316381
2+ —%

3+E

Ans 51
F 0 —

75
52
49
21
17

oA
5 52

— =

Q.2 ©= fiser @ &= 16 em, 30 cm 3R 34 cm ¥ T TES B N wEw

AT TUE &% EeY) Question ID : 16794316391

s of1.14.1 em
<216 cm
<3154 cm
<4146 cm

Q A person takes a loan at simple interest of 4% per annum for first year with an increase of 0.5 in each subsequent years.
If he paid T 5.309 as interest after 4 years, how much loan did he take? Question ID : 16794316389

Ans 1. T 18,700
v 2 T18.300
X 3 T 18,400
X 4 T 18,600

discount and remaining stock at 30% discount on marked price. What is his overall profit percent?

Question ID : 16794316388

Q_4 A trader marks his goods 50% above cost price. He sells 40% of his stock at 10% discount. 30% of stock at 20% [

Ans X1, 23.5%
X 2 25.5%
& 3 18.5%
v 4 21.5%




Q.5 18 =T 3w ve gEER 2 TEgat & P Hoa @t &ar §1 s@e @t witwe @4 E2 )
Question ID : 16794316387

Ans  of 1. 10%
. 100
X2 o B

: 100
75 3. fEnEe
11 7

: 109
- R Wi
11 0

Q.6 vF =FE F A F T 30 cm § IR FEAE BT 2077 om ¥ 9 F o T See F4w §7

Ans of' 1. 592 cm?

Question ID : 16794316392

< 2 588 cm?
# 3 596 cm?
X 4 576 cm?

Q.7 =% sk &% & fysr arg a9 gar 80% 5% &1 ofy g@ fsr urg & 350 ane 3F 50 am# aar
TR ST §, A A5 B urg F @ T gt s g 32 Question ID : 16794316385

Ans x 1. 259
X< 2 40%
v': 30%
X 4 32%

8 13 10 T N _ - . i hii
08 If a:b=2 (EEE —7 : 8, thEEERD : 7 Question ID : 16794316384

Ans X1 5:3:7

X23:6:14
X3 4:6:15
vi42:3:8
Q'g In an exam%.naﬁon 260 students appeared. Of_ these, 68 passed in mathematics, 72% passed in science and 20% failed
in both subjects. How many students passed in both subjects? Question ID : 16794316386
Ans of 1. 156
X 2 148

< 3132
< 4104

Q-‘] (Q The difference between compound interest and simple interest for 2 years on ¥ 4.200 is ¥ 34.02. The rate of interest per

annum is: Question ID : 16794316390

ans  of 1. 9%
< 2 11%
< 3 10%
< 4 8%

Q_‘I 1 A train without stoppage travels on an average speed of 80 km/h and with stoppage it travels at 64 km/h. How many
minutes does the train stop on an average per hour? QUeStiOn ID : 16794316393

Ans x 1. 14




X216
Vs 12
X4 10

Q.12 : 3 +57X 57— 943 X5,
The value of —o w2 YT X577 9A3X5T_ 4o equal to: Question ID : 16794316380
9.43 X 9.43 X 9.43 + 0.57 X 0.57 X 0.57
Ans ( 1. 10
< 2100
# 31000
< 4. 10000

Q_‘] 3 What is the greatest five digit number which when divided by 6, 7, 8 and 12 leaves the remainder 4 in each case?

Question ID : 16794316383
v 37

Ans

X 2 35
<3 34
X 4 36

Q.14 w= = 2 o 20 fome & oRT & Sfame 16 km = T ¥ 3K g g W ot wwer &1 A e A
T 2 kev/hr ¥, & e N #F A1g @ Afy kmihe F F 32 Question ID : 16794316394

Ars o114
X215
<318
X416

Q"I 5 If 3 women or 5 men can do a piece of work in 60 hours, then in how many hours 8 men and 12 women will comp!

that work? Question ID: 16794316395

Ans x1~ 8
K209
<310
v 12

Q.‘I 6 The HCF of two numbers is 18 and their sum is 288. If both numbers are three digit numbers, what is the sum of their

reciprocals? Question ID : 16794316382

Ans a
495
7
567
8
567
16
63

Q.17 A it B w& &w & w7 30 R v 20 e & g & w=e &1 @91 & vF Wy FA 3w B,
¥ 6 7 ¥ 92 A & = o | e RE # wm qw e e Question ID : 16794316396

ans X110
X214
v 16
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Comprehension:

The following table gives the savings in rupees, from the pocket
money of A and B during 6 months. Read the table and answer
the following questions:

Month |[March | April | May |June |July | August
A 140 120 100 160 140 | 140
B 180 140 100 140 130 | 210

SubQuestion No : 18

Q; The savings of A for the month of April is

Question ID : 16794316399

what percent of total savings of A of all 6 months?

Ans X 1. 15.4%
v 2 15%
X 3 16%
X 4 12%

Comprehension:

The following table gives the savings in rupees, irom the pocket
money of A and B during 6 months. Read the table and answer

the following questions:
Month |March | April | May |June m
A 140 120 100 160

B 180 140 (100 [140 |130 |210

SubQuestion No : 19

Q; The savings of B are what percent

Question ID : 16794316398

more than savings of A?

Ans
X1 5%
X 2 10%
V'3 12.5%
X 4 15%

Comprehension:




The following table gives the savings in rupees, from the pocket
money of A and B during 6 months. Read the table and answer
the following questions:

Month |[March | April | May |June |July | August

A 140 120 [ 100 |[160 | 140 | 140

B 180 140 (100 |[140 |130 |210

SubQuestion No : 20

Q.2
0

Ans

If savings of B are represented in a pie-chart,

Question ID : 16794316400

what is the central angle of the sector

representing the savings for the
month of June?

1 64°
X 2. 62°
X 3. 66°
X 4 60°

Secti

on : General English

Q.1

Ans

Choose the most appropriate grammatical sentence from the following:

r
Three quarter of the students are against ;
X 2

Three quarters of the students is against the new rules

X 3
The three quarters of the students is against the new rules
v

Three quarters of the students are against the new rules

Question ID : 16794316405

da

Q.2

Ans

Choose the most appropriate grammatical sentence from the following:
v
The number of engineering colleges is gradually being reduced.

X 2

The number of engineering colleges are gradually reduced.

X 3

The number of engineering colleges is gradually reduced.

X 4

The number of engineering colleges are gradually being reduced.

Question ID : 16794316414

Q.3

Ans

Fill in the blank with the most appropriate option:

She seems to always things to do that she all the time.

Question ID : 16794316406




/< 1. has, forget

/< 2. have, forget

« 3. have, forgets

#< 4. has, has forgotten

Q.4 Fill in the blank with the most appropriate option:
Question ID : 16794316410

One of my best friends who regularly me on my shopping trips is going abroad.

Ans 1. is joining
W 2 joins
/< 3. join

/< 4. were joining

Q.5 Choose the most appropriate grammatical sentence from the following: Question ID : 16794316413

Ans XL

Since she was driving, so we decided to go with her.

X 2

Although he was angry, but he wouldn’t accept the apology.

v

Although she confessed the truth, we couldn’t believe her

X 4
Though it is raining, yet we did not take the umbrella.

_—
Q.6
Choose the correct passive form of the sentence pr Question ID : 16794316415
She has sent a letter to a number of students.

Ans x1_

A letter have been sent by her to a number of students.

X 2

A number of students have received a letter from her.

v

A letter has been sent to a number of students by her.

X 4
A number of students have been send letters by her.

Q.7 Choose the most appropriate grammatical sentence from the following: Question ID : 16794316411

Ans X1_

The newly wedded couples has decided to fly to Singapore for their honeymoon tomorrow evening.

v &)

The newly wedded couple has decided to fly to Singapore for their honeymoon tomorrow evening.

X 3

The newly wedded couple have decided to fly to Singapore for their honeymoon tomorrow evening.

X 4

The newly wedded couple have decide to fly to Singapore for honeymoon tomorrow evening.

Q.8
Question ID : 16794316408




Ans

Fill in the blank with the most appropriate option:

The arrival of many delegates ~ a positive outlook.
& 1. Indicate
K2 s
« 3 indicates
X 4 are

Q.9

Ans

Fill in the blank with the most appropriate option:

Question ID : 16794316404

If you had told me what was wrong,
7< 1. T will not have hesitated to help you
#< 2. T will have hesitate to help you
+ 3. I would not have hesitated to help vou
/< 4. T would not hesitate to help you

Q.10

Ans

Choose the most appropriate grammatical sentence from the following:

Question ID : 16794316402

/< 1. T have a great time at your party last week.

X 2
I have had a great time at yvour party last week.

/< 3. I had a greatest time at your party last week.
« 4 Thad a great time at your party last week.

Q.11

Ans

Choose the most appropriate grammatical sentence from the fol

Ko

What would you do when you will finish classes?

X 2
What would you do when you finishes classes?

+ 2 What will you do when you finish classes?

X 4
What will you do when you will finish classes?

Q.12

Ans

Choose the most appropriate grammatical sentence from the following:

Question ID : 16794316412

v

Who is supplying these students with such dangerous drugs?

Question ID : 16794316409




Q.14
Ans

“ Question ID : 16794316401
1.

Q.15
uestion ID : 16794316407
ans 1. Q

Comprehension:

SubQuestion No : 16

Q.1
6 Question ID : 16794316419

Ans X1~
v
F
X 4

Comprehension:

SubQuestion No : 17

Q.1
7 Question ID : 16794316417

Ans 1.
X 2
X 3.
v

Comprehension:

SubQuestion No: 18

Q.1
8 Question ID : 16794316418

Ans o 1.
X 2
X 3.
X 4

Comprehension:

SubQuestion No : 19

Q.1
9 Question ID : 16794316420

Ans X1-




Comprehension:

SubQuestion No : 20

Q.2
0

Ans X1-
X 2
X 3
v

Question ID : 16794316421

Section : General Hindi

:nl- > Question ID : 16794316430
x 2
&3
v

(AJnZs v Question ID : 16794316429
o2
. adda
~oa

:nz .0 Question ID : 16794316441
~ 2
¥ &
~ o4

::s oo Question ID : 16794316431
X 2
~ 3
v 23

(A)nz x 1. Question ID : 16794316425
X 2
> 3




Q.6
Ans

v
X 2
X 3 e

< o JEI

Question ID : 16794316437

V7 e wiFser o & 2 Fwrn F fBw e aeg §

X 1. IOTHET
< 2 EofaETd
v 3 Seugtass
X 4 HIETOT

Ans

Question ID : 16794316434

Q.8

Feafof@a 7 9 g o= Fig-ar 272
X 1. gt
< 2 FreaAr
< 3. prel
v o fFToT

Ans

Q.9

Ans

v 1. 3fereRToT
X 2 Far
X3 =
K 4 T

Question ID : 16794316432

. B—

‘ﬁﬁsﬁa’rma:‘ramml’mﬁm%:i

o - W & W _

Question 1D : 16794316426

adda

Q.10

FIA-TT oTeg YL 87
K 1. Hidh

<2 BT

X+ s

W o P

Ans

Question ID : 16794316424

W e we ST TR @ oA
Ane X1 T[T FE e

X 2. SEeTH FT

v s gfgsar Jse g

< 4 HTEw T g

Question ID : 16794316440




Q.12 ‘Elﬁ' H_qm %’I' W = . l Question ID : 16794316435
M TR

X 2 THER

< 3 PEATT

X4 ey
B oeg H HAH & Question ID : 16794316428
Ans 1. ey

X2 Egﬁlﬁ'

X 3 egdiara

X 4 w
W TS T A qgel shis-AT JUT AT 87 Question ID : 16794316423
Ans X1_ z

PSR

vig

X433
Q.15

Ans

El'ﬂ':l'lz_lr e T TITeT| Question ID : 16794316438
K 1. FeATS Serar AT a d
X2 et Y foram S

X4-mmwm?ﬁrﬁl

U qom orer T IOT =R grem: Question ID : 16794316422
me X1 F+HT+AT+TT+ N
NRod+Ad+H+HA+T+ T+ A
ViT+H+T+A+F+ T+ H
Xog+q+q+q T L+ 3
17 ‘HoeaTHAS Tec, g1 %’: Question ID : 16794316427
e X s+ AR W

K2 e + T H
K AT + T T
Vi + R




ey ereg T THHETET Iy Question ID : 16794316436

Ans Xlﬂﬁ
v s
X 2 Fge
X o AR

1 sersrer T GolRd ST T MY @AT & Question ID : 16794316439

A X1 FROT 7 @ T HF o gl
' 2 & glepaT
K5 HUAT S F AT
X 4 3w e gler

Q.20

ded ec SlHeT| Question ID : 16794316433

Ans x1_ quﬂ-

X2 HE

e}

s oEgEr
K< 4 HER

Section : Subject Related

V! RfE I F e F ¥ P T a0 Question ID : 16794316460
Ans 1. AUG

<2 GUG

V'3 UAG

< 4 AGU

Q2 Bacteriophages are classified under which organisms?

Question ID : 16794316459

Ans  of 1. Viruses
< 2. Bacteria
#< 3. Protozoa
/< 4 Fungi

Q.3 Carotid arteries supply the blood to which vital organ in human beings?
Ans o 1. Brain

Question ID : 16794316445

< 2. Kidney
#< 3. Heart




/< 4. Lungs

Q4 What is the normal pH level of human blood?

X< 1. 6.35
X 2. 4.35
< 3. 2.35

v 4 735

Ans

Question ID : 16794316444

Q.5 Which of the following glands secretes the hormone Secretin?

/< 1. Kidney
v 2 Duodenum

/< 3. Pancreas
< 4 Liver

Ans

Question ID : 16794316453

Q.6

Ans

Which of the following cell organelles is involved in packing of lipids?
+ 1. Endoplasmic Reticulum
/< 2. Lysosomes
/< 3. Chloroplasts
/< 4 Ribosomes

Q.7
Ans  of 1. Sponges
/< 2. Protozoa
< 3. Bacteria

/< 4 Earthworms

During asexual reproduction, the formation of Gemmules is seen in which of the following organisms?

Question ID : 16794316443

Question ID : 16794316456

;

adda

Q8 YWhat is the gestation period of elephants approximately?

/< 1. 300 days
#< 2. 30 days
W 3. 500 days
/< 4. 60 days

Ans

Question ID : 16794316457

Q.9 Stomata play a major role in which of the following life processes?

Ans o 1. Transpiration
/< 2. Respiration
#< 3. Circulation

/< 4. Photosynthesis

Question ID : 16794316446

Q.10 Trpwfafas & & G oyl & (i & seeh e aiv soer e e @ &7

Ans x1~ a n { hﬁ )

Question ID : 16794316451




X 2 FEET (HIRE)
X 3 QFTERIY (ToFeTad)
v o aifafRss (3refEa)

Q11 YWhich of the following statements is FALSE?

F
The Pituitary gland is also known as ‘Hypophysis cerebri’

/< 2. Adenohypophysis releases FSH
« 3 The Thyroid gland releases TSH
F

98% of Pancreas is formed by Exocrine cells

Ans

Question ID : 16794316455

Q.12 Bowman’s capsule is a part of which of the following cells in mammals?
+ 1. Nephron

/< 2. Myocyte

/< 3. Oocyte

#< 4. Neuron

Ans

In the Hardy-Weinberg equation, which of the following represents the frequency of Heterozygous genotype?
X Q?
X 2. 2 pqz
V'3 2pq
~ 4 p?

Q.13
Ans

Question ID : 16794316447

‘l Question 1D:: 16794316461

adda

Q.14

Ans

Which of the following glands releases ADH (antidiuretic hormone) or Vasopressin?
/< 1. Thyroid gland
/< 2. Kidney
#< 3. Liver
« 4 Pituitary gland

Question ID : 16794316454

Q15 Which of the following Cranial nerves supplies the face? Question ID : 16794316449
Ans x 1. XII

X2 X

V'3 VIl

X4 IX
1 e SiIfTSﬁTzlﬁ' H: Question D : 16794316452
Ans x 1.

et #r 37 Fr I Fr gy @ S gl
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Q.17 Which of the following organisms is an example of Chemotrophic nutrition?

Ans 1. Clostridium

Question ID : 16794316442

/< 2. Spirogyra
v 3 Archaebacteria
/< 4 Paramecium

Q.18 The two cerebral hemispheres of the human brain are inter-connected by which of the following tissues?

Question ID : 16794316450
Ans

/< 1. Corpus luteum

/< 2. Corpus delicti
#< 3. Corpus albicans
' 4 Corpus callosum

— == == 8 === = — ¥

19 e e
Q19w alT & forafafla 3 & & w3 # R =% & a2 Question ID . 16794316448

Ans J1m l
X3 faeel (F=eile) a a

X o

Q.20 Which of the following hormones plays a major role during Parturition in human beings?
Question ID : 16794316458

Ans 1. Progesterone

' 2. Oxytocin
# 3. Prolactin
/< 4. Estrogen

Section : Subject Related

N ¥ 3
Q1 seprw A, Fraetee # @ 8 51 & B sefaa w87 Question ID : 16794316475

Ans X1- Eﬁm
v I
<3 RrEeEEr

X 4 TMAT




Q.2 In which year was the Environment Protection Act of India enacted? l Question ID : 16794316476

Ans - X1, 1992
X< 2. 2000
<3 1974
v 2 1986

'3 - . . . E B .
Q.3 Green Revolution is associated with which of the following? Question ID : 16794316479

Ans  of 1. Agriculture
/< 2. Aquaculture

/< 3. Sericulture
< 4 Vermiculture

Q.4 Mycobacterium bovis infection in cattle leads to which of the following diseases in humans?

A ) Question ID : 16794316480
ns X 1. Cow pox

/< 2. Leprosy
/< 3. Anthrax
« 4 Tuberculosis

 oafafae § @ i o 9 s I sEEwr L Question ID : 16794316462

Ans ?(1q1;ﬁ' = .
Jz.GﬁEITU;I'

s dd
ot v adda

Q.6 ; " 5 s o 5
What is a common feature between Rhizobium and Azospirillum? Question ID : 16794316470

Ans 1. Both are nitrogen fixing fungi
/< 2. Both are parasites
« 3 Both are nitrogen fixing bacteria
7< 4. Both are harmful for plants

7 rfafta # ¥ F9 o I w1 adERoT () a9 3 Question ID : 16794316469
VAR e

X 2. SfrEmeR sue

X 3 geiferasm

< 4 e

Q.8 Which of the following chemicals damage the Ozone layer?

Question ID : 16794316465

Ans X" 1. Sulfuric acid




' 2. Chlorofluorocarbons
/< 3. Sulphur hexafluoride

/< 4. Hexachloro carbons

Q.9 Which of the following plants can survive in extremely saline conditions?
/< 1. Epiphytes

X 2. Hydrophytes

/< 3. Xerophytes

+ 4 Halophytes

Ans

Question ID : 16794316467

Q.10 Infection with H5N1 leads to which one of the following diseases?

Question ID : 16794316481

Ans X 1. Fowl cholera
X 2 HIV
/< 3. Swine flu
v 4 Bird flu
Q.11 The process of change in structure of a species of a community over time is known as:

Ans

#< 1. Ecosphere
« 2. Ecological succession

# 3. Ecotone
/< 4. Ecological niche

Question ID : 16794316466

Q.12

Ans
/< 2. Bio-augmentation
/< 3. Bio-degradation

/< 4 Bio-accumulation

The build-up of toxins in a food chain 1adda
+ . Bio-magnification

Question ID : 16794316473

Q.13 Which of the following is a primary producer in a food chain?

Question ID : 16794316468

Ans o 1. Green plants
# 2 Snake
/< 3. Eagle
/< 4. Frog

Q.14

Which of the following is the lowest region of atmosphere?

Ans

/< 1. Stratosphere
/< 2. Tonosphere
/< 3. Exosphere
« 4 Troposphere

Question ID : 16794316464




Q.15 ﬁmﬁﬁaﬁﬁﬁamwmmﬂﬁawwam#l

Question ID : 16794316474

ans 51 HNO,
v 2 CoHgCyg
< 3 NO,
< 4 H,S0,

Q.16 Which of the following global conventions was formed to control Mercury poisoning in the world?

Ans

/< 1. Kyoto protocol

Question ID : 16794316477

/< 2. Basel convention
/< 3. Montreal protocol

+ 4 Minamata convention

Q17 ¥Which of the following is NOT a Greenhouse gas?

Question ID : 16794316471

Ans (1. N-O
< 2. COy
< 3. Ozone
v 4 SOy
Q18 ho has coined the term Ecology? l Question ID-; 16794316463

Ans xl HHX]EY

/< 2 Linnaeus
' 3. Haeckel a a
/< 4 Darwin

Q19 On which date is World Earth Day celebrated?

Question ID : 16794316478

Ans

X 1 10t January
v 2. 2204 Apri]

< 3 sth pne

& 4 228 December

Q.20 Which of the following are responsible for acid rains formation?

Question ID : 16794316472

Ans 51 CO, & NO,
X 2. CO & CO;,
W 3 S0; & NO,
X 4 COy & N>O

Section : Subject Related

Q.1 (

) |




How many series of acidic salts can be formed by orthophosphoric acid? l Question ID : 16794316490

Ans X1~ 1

.
<3 4
3

Q.2 Metalloids among P-block are NOT present in which of the following groups? .
Question ID : 16794316486

Ans

X 113t apg 14 groups
X 2 15t sroup
X 3 16t group

W 4 18t group

Q.3 Four gases A, B, C, D have Henry’s law constants 3, 4, 5, 6 respectively. Maximum solubility of the gas in the liquid is
pni Question ID : 16794316482
Ans X' 1. D

X2 B
/< 3. Tt is the same for all
viA

Q_4 On heating, crystalline magnesium sulfate loses 5% to 24% of its mass. The mass of water (in grams) present in the (

salt is: Question ID; 16794316484

Ans X-]_? o I e e
< 2180
< 3. 48.76
v 2 126

.5 " " . N
Q.5 The fossil fuel that is used to manufacture carbon black is: Question ID : 16794316499

Ans 1. Producer gas
/< 2. Synthesis gas
/< 3. Coal gas
« 4 Natural gas

Q.6 The correct expression for ionisation enthalpy of hydrogen atom in terms of Rydberg’s constant (RH) is:

A Question ID : 16794316487
s of 1. hCR,

< 2. Rg.C
X 3 2hCRy
¥ 4 2hCR,

Q.7 Interms of ionisation enthalpy, H resembles which of the group’s elements more? .
Question ID : 16794316489

Ans

< 1. Both 15t and 17% group
< 2 1% group




s 17t group

X 4. Neither 15t group nor 17tk group

Q8 The Brownian movement is due to:

Ans x1,

equal bombardment of large particles of dispersion medium by colloidal particles.

v &)

unequal bombardment of colloidal particles by the molecules of the dispersion medium size.

X 3

equal bombardment of colloidal particles by the molecules of dispersion medium.

F

bombardment of small size particles of dispersion medium by colloidal particles.

Question ID : 16794316483

Q.9 Bauxite ore is concentrated by which of the following methods?
Ans 1. Electromagnetic separation

#< 2. Froth flotation
+ 3. Leaching

/< 4. Hydraulic washing

Question ID : 16794316494

Q.10 The values of a, b, ¢, d e, fto balance the following equation are

Ans 1. a=2, - N — 2, ¢ Shletd
K2 a=448 c—" 6 c=2, =
75 3. o =/ c R ¢ —
W 4 g =Ty e o 3

Question ID : 16794316492

Q,'I 1 Nitrites on hydrolysis gives a compound ‘X’ which on reaction with H or OH gives Y. When Y is diluted to 5-10%, it
is known as a:

Ans X 1. Wash
/< 2. Rectified spirit
« 3. Vinegar

/< 4 Azo dye

Question ID : 16794316501

Q12 pust is a mixture of:

Ans X 1. Fe;0, and Fe(OH),
/< 2. FeO and Fe(OH),
' 3 Fe,0, and Fe(OH),
< 4 FeO and Fe(OH),

Question ID : 16794316495

Q.13 Which of the following statements regarding nuclides is INCORRECT?

Ans x1.

Isotopes show similar chemical properties but different physical properties

Question ID : 16794316485




X 2

Isobars show similar physical properties but different chemical properties

v &)

Isotopes show similar chemical as well as physical properties

X 4

Isotopes show different physical and chemical properties

Q.14 The correct increasing order of pH of isomolar solutions of K, 0(pH, ), K, S(pH, ), K, Se(pH,),and K, Te(pH,) is:
Question ID : 16794316491

Ans 1. pH, < pH; < pH, < pH,
< 2 pH; < pH, < pH, < pH,
« 3 pH; = pH, > pH; > pH,
< 4 pH; > pH, > pH; > pH,

Q.15 &1 ¥ Tenidt wr A=HRms & o gFst & SsHT HaRT § S S g, S

Question ID : 16794316496

Ans (1‘

Q16 Tdentify the correct order of size of the species: Question ID : 16794316488
e XK. Se"E > Bri> RbY> Kr a d
KX 2 Se~"SURESS. RYSSNEP Sr

V'3 Se 2 > Br~> Rb* > Sr*?
K4 Br~>Se 2> Kr>Rb*> Sr+?

Q7 rafafia & @ 7 o v sowasias dr afafEar 32 Question ID : 16794316497
Ans  of 1 CH,CH = CH, + HBr » CH,CH(Br)CH,
Ankydraes
% B
X 2 CoHg+Cly— =285 CeHCl + HCI
X 3
Peroxide
CH,CH = CH, + HBr —— CH,CH, Br
Ankydraes
. ek
X4 CﬁHﬁ-FCEE AICl; CEH}CI
Q“I 8 x’ moles of ozone are required to oxidise 1 mole of lead sulphide. v* moles of Oy are evolved in this reaction. The
mass ratio of x and y is: Question ID : 16794316493
Ans X'1.4:3
K21:1
Vi3 3:2

K4 2:3




Q19 The composition of power alcohol is: Question ID : 16704316500

Ans o 1. 80% petrol and 20% ethanol
< 2. 50% petrol and 50% ethanol
75 3. 20% petrol and 80% ethanol
75 4. 95% petrol and 5% ethanol

Q.20 What is the total number of chain isomers possible for n-Hexane?

Ans X1- g

Question ID : 16794316498

5
<34
6

Section : Subject Related

Q‘I The focal length of an equiconvex lens is 20 em and radius of curvature of each curved surface is 10 ecm. one of the two
curved surfaces is silvered. Find the effective focal length of the combination. Question ID:16794316513

Ans

F 0 Ecm, concave
3

10
v &) ?cm, concave

/< 3. 10 cm concave
/< 4. 10 cm convex

Q.2 Which of the following is an important and major in ient
P . prd Question ID : 16794316505

Ans 1. Dicalcium silicate
< 2. Gypsum
« 3 Tricalcium silicate

/< 4. Tricalcium aluminate

Q3 A fish is at a depth of 12 cm from the surface of a lake. And a bird is at a height of 15 cm above the surface of the lake.

The fish and the bird are on the same vertical line. The refractive index of water in the lake is % . Find the apparent Question ID:16794316514
distance of fish as observed by the bird. 3

Ans X131 cm
<2 21cem
3 24cm
< 4 27cm

Q'4 * 0 . . " . .
The mechanism of cleaning action of soap is similar to that of: Question ID : 16794316502

Ans 3 1. Toothpastes
' 2. Liquid dish washing detergents
7< 3. Shaving soaps

/< 4. Hair conditioners




Q.5

Ans

Which of the following is NOT the main objective of Ganga action plan? .
Question ID : 16794316504

« 1. The generation of electricity

/< 2. Diversion of industrial chemical wastes
/< 3. To improve water quality

/< 4. Treatment of domestic sewage

Q.6

Ans

Rayon is a/an: Question ID : 16794316506

/< 1. natural polymer
« 2 semi-synthetic polymer
#< 3. synthetic polymer

/< 4 elastomer

Q.7

Ans

A body starts from rest and moved with uniform acceleration. The distance travelled in the first 2 seconds and in the

Question ID : 16794316517

next 2 seconds are 57 and sj. Find 2
s
2

2

x‘l.g

X 2

L S [

3

, 1
4.5
ol 2

— =

Q.8

Ans

A uniform wire of resistance 9€2 is bent in the form of an equilateral triangle. Find the effecti

of the triangle. Question ID : 16794316507

F 1{1
3

v 220
X3 270
X430

Q.9

Ans

A convex lens of focal length 30 cm and a concave lens of focal length 10 cm are separated by certain distance. A
parallel beam of light is incident on the convex lens and the light emerging out of the combination is also parallel beam. H .
Find the distance between the two lenses. QUeStIOn ID:16794316516

v 1 20cm
< 2 40 cm
<3 15cm
< 4 10 cm

Q.10 =R - o [z & e FHT 71 7% T 71T F FER "R T 4% e §| Teer A fE 7 3

Ans

F a% s @ @ & g0 & war ey Question ID : 16794316519

a(m/s’)2|




V2350 m
#3100 m
#4300 m

11 T & Rl
Q11 sirorrer saredie (CL) & 99 A @ = wew feam aman 32 Question ID : 16794316503

"V g eSS
X 2 ZhfReET a3t
X3 ST
X 4 gowY EITFATSE

Q.‘] 2 A wire of length L is bent in the form a circular loop. And current is passed through the loop. The magnetic field
induction at the centre of the loop is B. Find the current passing through the loop. Question ID : 16794316510

Ans
r B“L—

o 2=
v —

" T

Q.'I 3 Aballoon s filled with air. The mass of the air in the balloon is 10 gr. A small hole is made to the balloon and released.
"ﬁ[:ien l;a}jl;)zhnen;zﬁzso zp with an average speed of 5 cm/s and shrinks completely in 5 seconds. Find the average form Question ID: 16794316520
Ans 110 d
. ynes
/< 2. 5 dynes

/< 3. 20 dynes
/< 4. 15 dynes

Q_‘] 4 A square loop of side ! is carrying current i. as shown. Find the magnetic field induction at the centre of the loop.

Question ID : 16794316509

Ans 1
; Mol
?( 1. L M
2nl

V2 S\EE
47l
_ Ll
2 FO°
X 3 \‘r =

X 4. Zero

Q.'I 5 Two small angled prisms of refractive indices 1.6 and 1.5 are arranged such that light ray passes through the
combination without deviation. The angle of prism for the prism of refractive index 1.5 is 4°. Find the angle of prism of H .
el it Question ID : 16794316515

Ans 3¢ 1. 10 degrees




< 2. 2 degrees

X 3. =— degrees
3

i — degrees
3

Q.'I 6 Radius of curvature of a concave mirror is 40 cm. An “object of height 1 cm is placed at a distance of 30 cm from the

mirror. Find the height of the image. Question ID : 16794316512

Ans x1~ 3 ecm
<2 15cem
A3 lem
v 4 2em

Q_‘I 7 Two bulbs A, of (100w, 100v). and B of (60 w, 100v) are connected in series and across the series combination 200v is

applied. Which bulb will be fused? Question ID : 16794316508

Ans o 1 Bulb B
X 2 Bulb A
#< 3. None
< 4 Both

Q.1 8 A body projected vertically upwards travels the same distance in the 5t and 6™ seconds of its motion. Find the .
maximum height travelled by the body. (g =10m/ Sz) QUeStlon ID : 16794316518

Ans X1 250 m
v 2 125m
/<3 50m
< 4 100m

A rod of length [ is rotated about an axis dicular to its length and passing through the en
Pperpen P 1z 2
. A magnetic field of induction B is acting perpendicular to the plane of rotation. Find the e.m.f induced across the rod.

Question ID : 16794316511

Ans ¢1 BCLL].
< 2 Bwl
< 3 Bwl?
X 4 Bw?l

2

A uniform rope is suspended from the roof of a building. The rope breaks if the tension in the rope is greater than 700 N.
Q.20
A man of mass 50 kg climbs up the rope. Find the maximum acceleration with which he can climb up the rope (g =10m /;2) QUeStiOn ID : 16794316521

Ans
. T

X1 L omis?
2

K2 2/ st

X3 Tm/s?

T

Section : Subject Related




Q.‘l A spring of spring constant  is suspended from the roof and a block of mass i is suspended at the other end of the
spring. The block is suddenly released. Find the maximum elongation produced in the spring.

Ans zmg
¥ Wi -

k

. mg
ey
X 3 i o
k

. mg
4, ieiti
s 4k

Question ID : 16794316526

Q.2 Two liquids of densities d; and d; are mixed in equal masses. Find the resultant density of the mixture.
Ans
v 2ah
dy+d,

X 2 Jdd,

X 3. G
d +d,

X4.M
2

Q.3 Mass of the earth is M and its radius is R. An object of mass m is placed on the surface of earth. Find the work done in
lifting the object through a height g above the surface of earth.

Ans GMm

GMm
4R
x4 2GMm
3R

Question ID : 16794316530

Question ID : 16794316524

- GMm
&2 a a

Q_4 Three point masses each of mass m are placed at the three corners of an equilateral triangle of side x. Find the resultant
force acting on any one particle at the corner.

Ans

Question ID : 16794316531

Q' 5 Asolid sphere of radius b is having a concentric cavity of radius a. The sphere floats on the surface of water such that
half of its volume sinks in water. Find the relative density of material of the sphere.

Ans

Question ID : 16794316527




Vi)
X 3 b_3

a3

. 25
Kb

—da

Q.6 At what height above the surface of earth weight of an object reduces by 1%. Radius of earth is 6400 km.

Ans  of 1. 32 km
A 2 32km
K3 6.4km
X 4 64 km

Question ID : 16794316522

Q.7 zFEmaEa m q wEE | v @A 99 # GAad ST 39 W sW TN @ S § & s wed
ss!%mﬁatﬁmﬁﬁmm%e%ﬁa@mﬁnmﬁhﬁaéﬂ?aﬁﬁﬁaﬁﬁmﬁm
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Question ID : 16794316525

Ans 2
K1 —mgl
15
3
g"z. ———nigf
32
. Z
X< 3. —mel
32
; mgl
p R
4
Q.8 ‘Weight of an object in air is 10 gr. Weight of this object is when it is completely immersed 5
volume of the object Density of water is 1gr/cm’: Question ID : 16794316528
Ans -
K1 075 em?
<2 45cm’
V'3 15 em’
<4 3emd
Q A man standing in between two parallel cliffs produces a sound and first echo is heard after 2 seconds and second echo

is heard after 3 second. If the speed of sound in air 340 m/s. Find the distance between two cliffs.

Ans X1 425m
X 2 340m
<3 170m
4 850m

Question ID : 16794316529

Mass of uniform circular ring is M and its radius is R. Find the maximum intensity of gravitation field on the axis of the
. f unifc ircular ring i d its radius i ind ths i i ity of gravitation field on the axis of th
ring

Ans 2 GM
VSRR
X2 Z;M

Question ID : 16794316523




GM
R

3 GM
4, == cres

242 R?

X 3

Q.‘I q One of the important aims of teaching mathematics to children is to comprehend mathematical language. Which of the
following is not a part of mathematical language?

Question ID : 16794316537

Ans X1 1#*&
K2 l# &
v <{}+=
<4 %2[]!

Q.12 Which of the following emphasizes the role of rewards and punishment in learning? _
Question ID : 16794316532

Ans

< 1. Law of exercise
& 2. Law of readiness
V' 3. Law of effect

/< 4. Law of practice

Q.13 ==t 3 '
A # fRE weew 58 a9 # v ST € A ¥ ane o §2 Question ID : 16794316536

K iR e

v 2 SYerfOrr weiee
X 3. =T
X 4TIl FETET

Q.‘] 4 Choose the best option from the following.
Question ID : 16794316538

Text books contain information about human rights. values and social norms. Thus we can call text books as:

Ans 1. Knowledge body
/< 2. Repository of content
« 3. Tools for social change

/< 4. Source of information

Q.15 i s : !
Ajanta paintings are categorized as: Question ID : 16794316533

Ans 1. Intangible cultural heritage
« 2. Tangible cultural heritage
/< 3. Environmental heritage

7< 4 Natural heritage

Q.16 © T TAERN AAERT AN F AT T2 THEE F 0 v § i o7 w5 et ar
ol FeaT ¥ S § FiF W A3 TEp # T a1 oA 7 Question ID : 16794316541

Ans '?(:14 Zar
X< 2. mgairerar
< 3 HreR
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A7 i *hi i 4
Q.17 Plant embryology can be studied under which branch of biology? Question ID : 16794316535

Ans 1. Microbiology
/< 2. Zoology
/< 3. Virology
« 4 Botany

Q.18 What is Learning in one context and applying it to another called technically? .
Question ID : 16794316534

Ans

/< 1. Applving learning
/< 2. Basic learning
« 3. Transfer of learning

#< 4. Advanced learning

Q19 P & ;
B R S AT Question ID : 16794316539

RreT 3 Fom TR =3 F T 79§ e w8 s e b
Ans XK1 gz Fterer
v 2 U TEae #fEEatET
&< 3 G Fell
< 4. f3reToT Hirer

Q.20 According to Herbert Spencer education should aim at complete development. Whi
development aligns with this ideology?

Ans 1. Principle of correlation
« 2 Principle of including all activities
/< 3. Principle of flexibility
7< 4. Principle of future orientation




